COSMOSWorks Evaluation        Initials __________

Chapt. #1, Exercise 1
(Cam Follower-Shear due to Bending)
Deliverables:

a) Plot of shear stress τxy on front face.  
(10) ____

b) Graph of τxy across top front edge.           
(10) ____

c) Graph of τxy at 1 in. below top edge.   
(10) ____

d) Calculation of τxy using the classical equation 

    for shear stress due to bending in a rectangular

    cross-section.  τxy = 3V/2A 

(10) ____

· Compute percent difference between τxy using the classical equation and finite element solution of part (b).  Compare stress at the same location on the model.
(10) ____

· Compute percent difference between τxy using the classical equation and the finite element solution of part (c). 



(10) ____

e) State the reason why shear stresses determined 

     in parts (b) and (c) differ.

(10) ____





        TOTAL   ____/70

OTHER:

( Do not submit items not requested. (marked “NA”)

( Organize pages in order of items listed in the    problem statement.
( Work neater (or) organize work (or) include units
( Show percent difference calculations, include values.
( Show values used in all manual calculations.
( Include mid-side nodes for a more continuous Probe graph.
( Use more descriptive titles on plots and graphs.
( Include your name on each plot.

